o K X & 4
RETRA7 7V NaoMIE K

FTA77IVIFRERESEWMENEES E IC

BERAFTDTHXTATZ7 IV bAESHEPAZTL 7

AfadF2H 1680

277»bmA%$m$ﬁ%§éf 1

L s2EEREDER

-5:

I e =
¢ idf
ﬁ%a%ﬁma% _$7177WF%n%®%ﬁ EE weRanns BETAI77ILMESHOAT
1 | V—03A5 |HAIMEEMETZRT7)L MEAWQO[SE] | 1 | R—O01 BET A7 7L FRENERAY (40) [50E)
2 IV—OE;AS_ ﬁzui‘#%ﬁmr*?szu MESH(20)[75E] | 2 | R—02 BEBRBET R T 7L MEAY (20) [50E] il
3 | v—11 ;a);a;z:;m?wiwwwm ) [50@) 3 |R—02A BEEHETRT 7L MNEEY(20) [75E]
4 |V—225 |H—3RFRT7IL MEEY(3) [50E] 4_ R—04 ;EE%JE*ME??\?wb &% (20) (50E)
T _5 R—O04A | B&EBHET R 77U ~EAY(20) [75E]
6 R—O06 BEBHETZ A7 7L HE&H(13) [50E)]
- A T ———

| % M M

2022%3AH1H

2023%2H28H

A — i —— — A — A S A S A A A A S S S — A —

L o v v L — — — S —  — T D " — Y — Y — o, o, o, s . o, . o " o, . T o " o o, ., ]

AR R



FHIFEEBET A7 70 MEEY (IRIEEW) i &
T AT 7 v MR AR

[ Xy F X H ]

A DN
SN £y

WEE B 8521-007-2202 |REFTA | WEHEKSE KET ATy NEMIE
| RETHRAYEE | M — 4
REREHHE V—225 a 2 # M 202243010 ~202342A28H
BAWD LT R—F AT A7 7 )b MEAH (13) [50E]
& K K £ 13 mm 2= B o A 50 =]
TA77h b DOFERE VY v—®ET A7 7/ MHE - FLA =9 PECO |[WRARMHEH S 3 £11 A
B OENELS - M8 - FEHE R
FMALe BE K M OH EE s = B oBl B A K BEE
(%) (%) (kg)
S—20 58
¥ 65 85.0 |WEWE | KEHEAE WXEEATER| 480
S— 5 3B 76. 0 1520
Tk RD oy 4.8 96
TehmaD 10.0 WEWE | RKiE AT R Men T3 | 1BV 9.6 190
oo oOryv
H OB 5.0 AR R AR T Bk T VAN 1.0 20.0
A OB 3.8 76.0
TAT 7 4.9 98.0
7t 100. 0 &t 100. 0 2000. 0
55 0WH | E A B A&|F B B & mEBHRRER & F & B
53 mm
- 37.5 mm
ilg 31.5 mm
= 26.5 mm
5 19 mm 100. 0 100.0 100. 0 100
[E] 13.2 mm 95. 3 96. 2 96. 2 90 ~ 100
ol 4.75  mm 18.8 21.3 22.2 11 ~ 35
= 2.36  mm 4.5 14. 8 15. 2 10 ~ 20
o 600 um 9.5 9.3 9.7
° 300 um 7.7 7.6 7.9
150 pum 5.8 5.8 6.0
75 um 4.6 4.5 4.8 3~ 7
= N B & B % B & R R R T % &
TAT 7 NE (%) %3t 4.9 WE 4.9 HH 4.9 4.0 ~ 6.0
b BE (g/cm’) 1.977 1.978 1.974
< R EBRREKEE  (g/cn’) 2. 485 2.485 2. 485
| FZE =R (%) 20. 4 20. 4 20. 6 20 7 E
e o B (%)
YR & & (KN) 6. 07 6.13 6. 28 3. 43 1/
VBRI 5 — [E  (1/100cm) 31 31 26
TR E (%) 93.0
® ¥ OB E (g 1.978
# o EZ E E  (E/m) 7,000 7,875 6,000 LA 5, 000 15/
T 0D B b = (cm?)
H At R (%) —
% K f2 ¥ (em/sec)| 1.34%x10°" 1.37X10°" 1X10° ok
BEEDHWEEIRE 170 + 10 C
i AL ) H




	認定証
	認定証 5

